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[1] FEFEBHERA
1. ASEIRA 300, 000 500, 000 200, 000
1. A& 4& 300, 000 500, 000 200, 000
1. A&d FEELESEB) 300, 000 450, 000 150, 000 | 50, 000/ X 9 A
2. A&& (BA=E () ) 0 50, 000 50, 000 | 50,0001 X 1A
3. A=4d ( o (48 ) 0 0 0
2. SEIA 59, 090, 000 59, 736, 000 646, 000
1. & % 59, 090, 000 59, 736, 000 646, 000
1. EmEa®E (FiEELSR) 58, 140, 000 58, 577, 000 437,000 | 19,000/ X 2584 X 1271
2. Fwma® EAEGE)) 475, 000 665, 000 190, 000 | 19,000 X 344 X 12 H
3. HEat BASE D) 475, 000 494, 000 19, 000 | 19, 00019 X34 X 127 H
3. RfFEILA 411, 000 563, 500 152, 500
1. FHEEHA 411, 000 563, 500 152, 500
1. % % 48, 000 56, 000 8,000 | 8,000/ x 7A
2. & TR G 3, 000 6, 000 3,000 | 3,000/ % 2A
3. BERFHATE 10, 000 9, 000 A 1,000 | 1,000/ X 9A
4. HBLFE S FHEOR 100, 000 163, 000 63, 000 2,000 X 65 A (FgEk)
[1,momx33A (H224)
5. RE - FRRATFRECE 250, 000 323, 500 73,500 | MEENZERE - FER S-S
6. 1ENFEBUSTFEoE 0 3, 000 3, 000
7. ENEOHEFECE 0 0 0
8. ENIEFAE T s FEoE 0 3, 000 3, 000
4. FZEFEULA 1,120, 000 1, 830, 000 710, 000
1. # A & 1, 120, 000 1, 830, 000 710, 000
1. ABhaFEH=E 1, 000, 000 1, 650, 000 650, 000
2. L SHZIEHMEEZITE 60, 000 120, 000 60, 000
3. BREMEEZ 60, 000 60, 000 0
5. EEEIA 550, 000 665, 650 115, 650
1. & hE % 550, 000 665, 650 115, 650
1. s W 550, 000 665, 650 115, 650
6. # UL A 355, 000 629,919 274,919
1. M I A 355, 000 629, 919 274,919
1. HEBFE 5, 000 4,922 A T8
2. HfEFRE 50, 000 50, 000 0
3. WHEAIA 0 0 0
4. Bh Bk & 100, 000 92, 850 A 7,150 | B EEK[EE 7
5. M X A 200, 000 482,147 282, 147 | (e e SRt s A0kt -
L 2 AT % T Akt
ERITEINAGT 61, 826, 000 63, 925, 069 2,099, 069

(AT RREZERT)
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XHE SEE MEA ¥ H & RE = B & =
[2] BXREERH
B X E 13,027, 000 9,099, 133 3,927, 867
1. BBt 700, 000 610, 700 89, 300
1. % = & 200, 000 128, 060 71,940 | 3[H
2. F X & 500, 000 482, 640 17,360 | 2 CFLAS - el a—nfh
2. J”%%B%% 200, 000 62, 630 137, 370
W= & 200, 000 62, 630 137,370 | 2
3. Wk%[sés;%' 2, 200, 000 1, 996, 072 203, 928
1. % = # 500, 000 243, 800 256,200 | 4=
2. W& #& 1, 600, 000 1, 652, 062 A 52,062 | 12m GrirED) - EREHEM
3. WHEREE 100, 000 100, 210 A 210 | HAZBHHET n)" 74
4. R aE 3, 000, 000 2,164,102 835, 898
1. % = & 400, 000 130, 420 269,580 | 3 M
2. XA LHRE 2, 250, 000 1, 805, 272 444, 728 [TE%-HP - 7B B R
TR 9A VERK - fil
3. EEHARE 350, 000 228, 410 121, 590
5. MRIEFEEFEETSE 2, 150, 000 1, 026, 084 1,123,916
1. 3 = #& 200, 000 50, 560 149, 440 | 211
2. F X & 1, 050, 000 368, 464 681, 536 [\«mm-%iﬁ-ﬂﬁ B
e HH A fth
3. tHI I -EE 750, 000 607, 060 142, 940 | rampses-masmen n oy
4. EIENEE SR EEE 150, 000 0 150, 000
6. %ﬁ%’l FZESE 2,100, 000 1,038, 745 1,061, 255
FEFNEELHREE S 400, 000 199, 040 200,960 | 2@ - FEFFHA
2. ERENREANE 400, 000 303, 665 96,335 | 48] - FHFE N
3. RIEKIEXIREESE 300, 000 178, 100 121,900 | 7 [Fift
4. FoMoOEEEE 1, 000, 000 357, 940 642, 060 | oxAMA. AL
7. FERIEER 500, 000 0 500, 000
1. KERBRESICE 500, 000 0 500, 000
8. & At 4 2,177, 000 2, 200, 800 A 23,800
1. Zsefte: (FiEELER) 2, 142, 000 2,158, 100 A 16, 100
2. XAt GEASE(E)) 17, 500 24, 500 A 7,000
3. XAt GEASE @) 17, 500 18, 200 A 700
2. £ 5 & 3,900, 000 2,421,568 1,478,432
1. & & & 3, 900, 000 2,421, 568 1,478, 432
1. B & # 1, 300, 000 968, 618 331,382 | MG HRIEIRI - BB A
2. HEH 900, 000 405, 820 494,180 | 60l « BE/NHEFE
3. ARESE 100, 000 0 100, 000
4. XiEat 200, 000 95, 000 105, 000 | 21
5. FRIZESE 50, 000 12, 320 37,680 | 1M
6. PITHIRE 400, 000 325, 990 74,010 | 1 4 [Elfh
7. BEESE 50, 000 26, 090 23,910
8. MEE 900, 000 587, 730 312,270 | AENE - 77 nysias
3. E K& 30, 322, 000 27,247, 260 3,074,740
1. N & 23, 980, 000 22,972, 760 1, 007, 240
1. #EFTY 4, 050, 000 3, 950, 000 100, 000
2. HEIBRMEFY 400, 000 400, 000 0
3. & Bt 13, 600, 000 13, 437, 800 162, 200 | =M 4 A5 5 RFY
4. 3% F 4 1, 500, 000 1,123, 800 376,200 | FEHS - Kl
5. HEIFY 900, 000 896, 160 3,840 | 4 A%y
6. fEFEAE 3, 000, 000 2, 640, 000 360, 000 BRIl Gy
7. FEERETRE FY 0 0 0
8. IRk 530, 000 525, 000 5,000 | 4 A%y
2. B EE 30, 000 8, 000 22, 000
1. JiRE @ 30, 000 8, 000 22, 000
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XHE THE IEE ¥ H & RE = B & =
3. F B & 6, 312, 000 4, 266, 500 2, 045, 500
1. =% 90, 000 69, 471 20, 529 | EEEHE A
2. HI Rl # 1, 200, 000 83, 980 1,116,020 | fass
3. 7 & 1, 000, 000 911,912 88,088 | sk, EEkkhE
4. WEETEGEE 2, 500, 000 1, 985, 954 514, 046 u—w[ PC, FAX, 2t'-. il
M, AT
5. WHEESLZ 1, 000, 000 779, 474 220,526 | = —kh RN, HE
6. FBIAIR 72, 000 72, 000 0 | BEABL
7. M & 250, 000 196, 410 53,590 | REAHRETHEHE
8. # % 200, 000 167, 299 32,701 | #rhifth
4. ﬁ#ﬁéitﬂ 23, 476, 000 23, 555, 720 A 79,720
A S 23, 476, 000 23, 555, 720 A 79,720
1. HAEEEHESE 14, 499, 500 14, 654, 600 A 155,100 | ~4, 70019 x 258 A X 12 A
(AlE# o)
4, 700 X3 A X124 H
U (B FETEARER)
2. HuEERER S 5, 846, 500 5,904, 900 A 58,400 001 (&) X258 A X124
(AlEELLE)
700/ (&ff) X3AX124 A
(E7= 2 HHAEASER)
600 (HFHE) X258 A X124 H
(RlEEL2E)
6001 (#ffE) X3AX124 H
(BB FBIEARE)
7001 (77 RBEFL4R) X258 A X 64 H
(AliEE+LRE)
500/ (7 FeRchEIE4) X258 A X6+ A
(AliEELRR)
3. Tuyrot 780, 000 774, 000 6, 000 [ 3,000 x258 A (FEAEET)
4. BHERERBRE 2, 350, 000 2,222,220 127, 780 | 8,580/ X 259 A
5. % 4 & 3, 350, 000 1,518, 314 1,831, 686
1. W5 & 3, 350, 000 1,518, 314 1,831, 686
1. &2 B # 550, 000 403, 846 146, 154 | Pufg, E@. 25
2. SRREE 400, 000 278, 658 121, 342
3. BRKREE 1, 300, 000 825, 810 474,190 | BERAE, BH. BRE, i
4. SE RS 100, 000 10, 000 90, 000
5. HELSHRILHG 1, 000, 000 0 1, 000, 000
6. HXHE 0 0 0
1. e 0 0 0
1. HBi&EH4 0 0 0
7. Bk & 650, 000 731, 360 A 81,360
1. & e # 650, 000 731, 360 A 81, 360
1. i A 650, 000 731, 360 A 81, 360
BEEHZHE 74,725, 000 64, 573, 365 10, 151, 645
BEFHINZEZ (A) |A 12,899,000 A 648,286 | A 12,250,714
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I. & FEHRIZOE
[1] ®&EFHIRA
1. YSEESIARIIRA 0 0 0
1. BT FESTURIA 0 0 0
2. BftERFIINA 0 0 0
1. ABEEMERFEIA 0 0 0
BEFEHINAG 0 0 0
[2] #EESHZH
1. BEEEXH 1,000, 000 1,000, 000 0
1. JWEFTHERE TR S 1, 000, 000 1, 000, 000 0
BEERSZHE 1,000, 000 1,000, 000 0
BEFENUNZEE (B) | A 1,000,000 [ A 1,000,000 0
II. BB ESNINZDOEP
[1] ABESIA 0 0
[2] ABEEHZH 0 0
BIFEEINZERE (C) 0 0
V. FPiEXH
1. ¥ & & 2,250, 644 0 2, 250, 644
1. T fif 2 2, 250, 644 0 2, 250, 644
FiEEXZHET (D) 2,250, 644 0 2,250, 644
LHINZEEE A+B+C-D [A 16,149,644 | A 1,648,286 | A 14,501, 358
ATHAfE IR =48 16, 149, 644 16, 149, 644 0
RERIERRIN T ZERE 0 14,501,358 | A 14,501, 358

(AIFBETRT)




